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บทคัดย่อ 
  การศกึษา การเกิดลดัวงจร โดยเซอร์กิตเบรคเกอร์จะต้องเปิดวงจรทนัที และจะปิดกลบั (reclose)  
ทนัทีหลงัจากเปิดวงจร โดยตัง้สมมุตฐิานวา่การลดัวงจรได้ถกูขจดัออก การเปิดและปิดวงจรอยา่รวดเร็ว  ท าให้
เกิดการรบกวนขึน้ในระบบ สายสง่บริเวณท่ีเก่ียวข้อง จากการกระเพ่ือมของแรงดนั และก าลงัไฟฟ้า  แต่ไมมี่ผล
ท าให้ซิงโครนสัมอเตอร์  สญูเสียคา่ synchronism  หรืออีกนยัหนึง่คือ ยงัไมเ่กินขีดจ ากดัของเสถียรภาพ 
(stability limit) เม่ือมีการป ลด-สบัวงจรของเซอร์กิตเบรกเกอร์ตามแผนปฏิบตัิ งานเป็นสาเหตทุ าให้เกิดการ
รบกวนระบบ เป็นชว่งเวลาสัน้ ๆ ในระบบขนาดใหญ่ เชน่ในกรณีของสายสง่ขนานจะมีการรบกวนระบบเม่ือมี
การปลด หรือสบัสายสง่เส้นใดเส้นหนึง่ เน่ืองจากซิงโครนสัมอเตอร์ขนาดใหญ่ เป็นสว่นส าคญัท่ีสดุสว่นข อง
โหลดทัง้หมดระบบ การรักษาเสถียรภาพของระบบจงึเน้นในสว่นนีเ้ป็นพิเศษ ดงันัน้ในทนัทีทนัใดท่ีขัว้แมเ่หล็ก
ของซิงโครนสัมอเตอร์เข้าใกล้จดุวิกฤต 90 องศา หรือเข้าใกล้จดุอนัตรายของการสญูเสียซิงโครไนซึม่ อนัจะเป็น
สาเหตใุห้เกิดการสญูเสีบของระบบทัง้หมดท่ีมีอยู ่ในทางปฏิบั ตเิรามีความจ าเป็นท่ีจะต้องเปิดเซอร์กิตเบรก
เกอร์ในสว่นท่ีวิกฤต เพ่ือปอ้งกนัการรบกวนระบบทัง้หมด เซอร์กิตเบรกเกอร์จงึเป็นอปุกรณ์อนัมี สว่นส าคญัท่ีจะ
รักษาเสถียรภาพ  มีการตอบสนองตอ่สญัญานสัง่งานอยา่งรวดเร็ว  และความเฉ่ือยของเคร่ืองกลซิงโครนสัก็มี
สว่นชว่ยรักษาซิงโ ครไนซึม่ให้กบัระบบในบางกรณี  จะมีการออกแบบให้เคร่ืองกลมีคา่ความเฉ่ือยเพิ่มขึน้จาก
การออกแบบธรรมดาทัว่ ๆ ไป ด้วยเหตผุลเพ่ือเพิ่มเสถียรภาพของระบบให้สงูขึน้ ปกตเิคร่ืองกลขนาดใหญ่จะมี
ความเฉ่ือยมากกวา่เม่ือเทียบกบัเคร่ืองกลขนาดเล็ก การรบกวนทางไฟฟ้าตามปกตมิกัจะท าใ ห้แรงดนัไฟฟ้าตก
ซึง่สงัเกตได้จากแสงไฟท่ีหร่ีลงและลดลง เป็นไปตามการเพิ่มและลดลงของแรงดนัในระบบเม่ือมีการแกวง่ 
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Abstract 
 This study of short circuit by circuit breakers to open circuit immediately and will back off 
(reclose) immediately after the open circuit by hypothesis. A short circuit can be cut off, open and 
closed circuits do not fast. Cause interference in transmission systems the related from the ripple 
voltage and electricity, but had no effect on synchronous motor. The synchronism lose value, or in 
other words, is not beyond the limit of stability (stability limit) when they release - Chop circuit of 
circuit breaker. Three action plan caused interference system, briefly in large systems, as in the 
case of transmission lines are parallel interference system. When you have to unlock or hack 
transmission line any one. Because of large synchronous motor Are the most important parts of the 
whole load system. To maintain the stability of the system is emphasized in this special. So 
suddenly that magnetic poles of the synchronous motor near the critical point 90 degrees. Or near 
point danger of losing syncronize. Which will cause loss of all adverse system available. In practice, 
we have the necessity to open the circuit breaker in the To prevent interference, the entire system 
circuit BAE. The placenta is a marker is an important equipment to maintain the stability of the 
system. Response of contract order quickly. And the inertia of the mechanical synchronous also 
helped sustain syncronize tourism to the system in some cases. Is designed to increase the 
mechanical inertia of ordinary design around a reason to increase the stability of the system to high. 
Normal mechanical inertia. Large is compared to a small mechanical Electrical disturbance usually 
make voltage fall which was observed from the light turned down and down. According to the 
increasing and decreasing of pressure in the system when the swing.  
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